Solutions for the problems 43-50.

43 Find an equatlon of the tangent plane to the surface given by parametric equations z = u?,
y =u —v?, z=1? at the point (1,0,1).
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/-74 Find the a eaofthehypebl paraboloid z = z®—y? that lies between the cylinders z2+y% = 1
and z? +y 4.
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B 4 5? Find the area of the surface with parametric equations z = uv, Yy =utv, z2=u—v, ul+v2 <1.
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' 46,Find the mass of a thin funnel in the shape of a cone

; z= \/m, 1<z .S 4 if its ,dénsity ‘
function is p(z,y, z) = 10 — 2.
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lfi? Evaluate [f,yzdSif S is the part of the plane z = y+3 that lies inside the cylinder z ‘ty? =1
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% Let T be the solid bounded by the paraboleids
z=2? +2y2, and z = 12 — 222 — 92,
Let F =< ,y,z >. Find the outward flux of F across the boundary surface of 7.
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l{q Verify the Divergence Theorem for F =< z?,zy, z > and the region E bounded by the coordi-
nate planes and the plane 2z + 3y + 42 = 12.
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@ Use Stokes Theorem to evaluate fc F.drif F =< 22, z,3y > and C is the ellipse in which the
plane z = z meets the cylinder 22 + y2 = 4, oriented counterclockwise as viewed from above.

F- A= 3%‘30@5 L -
3




